PART - A

all the eight questions in Part — A. Each question carries 2 mark)

wmch among the following is not used for detecting autocorrelation ?

A) BG Test B) Durbin Watson d

() BPG Test

D) Runs Test

e method of

| the equations are exactly identified, one can use th %
:_'f}s

B) OLS
D) All the above Qd

5 When al
A) ILS
C) GLS

3 A confidence interval consists of
B) A statistic

- A) Aconfidence level
D) All the above

"; C) A margin of error

4. Choose the correct pair :
Autocorrelation

~N 7 '
Ve 1 &

Residual nC



B) Unblaseﬂnéss e
SRR L
D) Efficiency |

B) Variables
D) None

A)' Parameters
C) Both A) and B)

- 8. Which among the following is not a distribution free test ?
A) Kruskal-Wallis test B) Student’s t test
C) Fisher-Irwin test D) Wilcoxon test

PART - B
stion carries 2 marks. No ang

(Answer any eight questions in Part B. Each que
should exceed one page.)

9. Define a random variable.




| short note on Gauss-Markov Theorem.

PART - C

any four questions in Part C. E :
. . Eac i
(ceed two an d half pages.) h question carries 5 marks. No answer

Jlain the steps involved in the White’s test for heteroscedasticity.

prepare @ note on 2SLS.

“:'Mathematically derive coefficients using OLS method for the re
=5y + PoXi + Ur

gression function -

gxamine the meaning and properties of Indirect Least Squares.

4, Explain analysis of variance in regression.

(4x5=20)

35 Explain the remedies for the problem of multicollinearity.

PART -D

(Answer any two questions in Part D. Each question carries 10 marks. No answer

should exceed six pages.)

%. Explain the methodology of Econometrics.

State and prove the properties of OLS regression estimators.

v

ate regression equations y on X and Xon'Y using the follov i

of a two variable regression model :
¥, =120, X2 = 540, 2 ¥ =1200, S XYl

il the problem of autoco
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